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Rajo-arve ja jatéuvuar [varfauérez‘]

| Raja-arvo 5-6

| Jatkuvuus 7-8

| Raja-arvo 9-10

Il Jatkuvuus 9-10
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| Raja-arvo 5-6

13
1. a) 10 b) 10 c) 3 d) 2
3
2. a) 8 b) ei raja-arvoa
c) 2 d) -2

Jip 6D =3, Jim (/) =a+2

4. a) -1 b) V2

| Jatkuvuus 7-8

lim f(x) = f(2)=6

1. a)
by Jm, £ (0 = £ (=2) = -4
2
lim f(x)=f[=>])=0
= (3)
2. a)on b) ei ole c)on
3. a)a=3 b)a = -1 c)a=-1

4. https://ffiles.mafy.fi/Yo-mallivastaukset/2021K/pmyo_k21.pdf
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| Raja-arvo 9-10

1. a)4 b) 2
2. 1
3. 2
4. a)2 b) 2

Il Jatkuvuus 9-10

X 4x—6
fx) = 343 1 FF 3
5. —5,3( = _3
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